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Mr. Schlansky Geometry

Similar Triangles with Quadratics

1. In the diagram below of right triangle ABC, altitude BD is drawn to hypotenuse AC.If

BD =4, AD = x-6, and CD = x, what is the length of CD? ” é (/ }é
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2. In triangle ABC, DE ||BC.If AD =2, DB =x+1, AE =x,and EC =x+6,find \,[)
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3. AHAI ~ ACRE . If HA = X, CR = 6, HI = 8, and CE = x+8, determmeandstatethe

length of CE.
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4. Altitude CD is drawn to right triangle ABC. If AC=8, 4B = =x,and AD =x-— 12 l é((
Find the measure of AD . -
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5. In the diagram, EH E, §:x+3, BA=2, CD= 2,and DE =x.Find DE .
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6. In the diagram, EH%, AE=x+2, m=x—1, AD =9 and EC =2, find the

measure of AE . _.I.a P %G %M
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7. In the dlagram altitude BD is drawn to hypotenuse AC . If AB=x-1, DC=5 and
AD = 4, find AB.

8. In the diagram below, AABC~DEF.IfE—4 BC =x— 1, DE = x+3, and

EF =15, determine and state the length of DE . q Y= lb3 CE.
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